Homework 2 Solutions CS117 O Katy Craig, 2025 Define the propositions EQ1, Q2,...3 = EQ2: LEINE by Qe:= Pe-1+m Then Q1 is true and for all leIN, l-1+m=m, so if Qe=Pe-1+m is true, then Qe+1 = P(l-1+m)+1 is true. Therefore, by induction $\xi Q_1, Q_2, \ldots \xi = \xi P_m, P_{m_{1,1}, \ldots} \xi$ are all true.

2)@ Base case: When n=2, we have 22=41>3=2+1. Inductive step: Suppose n2>n+1. Then $(n+1)^2 = n^2 + 2n + (> (n+1) + 2n + (\ge (n+1) + ()$ (b) Base case: When n=2, we have 4!=221>16=42 Inductive step: Suppose n!>n2. Then (n+1)! = (n+1) · n! > (n+1) n2. By part (a), n²>n+1 for all n22. Therefore, we May continue the previous inequality to obtain (n+1)n²>(n+1)². Hence (n+1)!>(n+1)², which completes the proof.

(3) Assume for the sake of contradiction that q > p. By the proposition from class, there exists $r \in F$ so that q > r > p. By assumption, since r > p; we must have $q \leq r$. This contradicts the fact that q > r. Therefore, we must have $q \leq p$. $q \leq p$.

(a) Let M=max(S). By definition of maximum, s=mD for all sES, so Mis an upper bound of S. If $\begin{array}{l} \begin{array}{l} \begin{array}{l} \begin{array}{l} \\ \\ \\ \end{array} \end{array} \end{array} \end{array} \end{array} \begin{array}{l} \begin{array}{l} \\ \\ \\ \end{array} \end{array} \end{array} \end{array} \end{array} \begin{array}{l} \begin{array}{l} \\ \\ \\ \end{array} \end{array} \end{array} \end{array} \end{array} \begin{array}{l} \begin{array}{l} \\ \\ \end{array} \end{array} \end{array} \end{array} \end{array} \end{array} \begin{array}{l} \begin{array}{l} \\ \\ \\ \end{array} \end{array} \end{array} \end{array} \end{array} \end{array} \begin{array}{l} \begin{array}{l} \\ \\ \\ \end{array} \end{array} \end{array} \end{array} \end{array} \end{array} \end{array} \end{array} \begin{array}{l} \begin{array}{l} \\ \\ \\ \end{array} \begin{array}{l} \begin{array}{l} \\ \\ \\ \\ \end{array} \end{array} \end{array} \end{array}$ Thus, M is the least upper bound of S, so $M = \sup(S)$.

(b) By definition, sup(S) = s for all s ES. Thus, if sup(S) ES, it is the largest element of S and max(s) = sup(s). (C) Suppose S has a maximum Mo. By (a), $M_0 = \sup(S)$. This contradicts the fact that $\sup(S) \notin S$. Therefore, S must not have a maximum

6)@ Lets be an element of S. Since inf(S) is a lower bound for S, inf(S) = s. Since sup(S) is an upper bound for S, s= sup(S). Therefore, inf(S) = sup(S).O We will show S= {inf(s)}, so there is one element in the set. Since inf(s)= sup(s), inf(s) is both an upper and lower bound for S. In particular, for any seS, inf(S)=s and inf(s)=s. Thus inf(s)=s for all SES. This shows S= {inf(s)}.

(7) @ Since inf(T) is a lower bound for the set T, if SET, then inf(T) is also alower bound for the set S. Since inf(S) is the greatest lower bound of S, inf(T) = inf(S). The you should fact that sup(s)=sup(T) follows from an analogous argument. The fact Writethis argument that inf(s) = sup(s) follows from (6) -Sand-T to reduce to (b) Since sup(s) is an upper bound for S and sup(T) is an upper bound for T, what you have Stready max Esup(S), sup(T) is an upper bound for SUT. Thus, since sup(SUT) shownd is the least upper bound for SUT, sup(SUT) ≤ max ŽŠup(S), sup(T)}.

Combining these two inequalities, we conclude max Esup(S), sup(T) = sup(SUT).

(8) <a>O Since Sis bounded below, ∃mo <a>E mo <a>E This implies mo ≥ -s <a>F so <a>S is bounded above.

(b) Since S is nonempty, so is -S. Since -Sis bounded above, by obfinition of the real numbers, it has a supremum, sup(-s).

€) Since sup(-S) is an upper bound for -S, -s = sup(-S) for all s ∈ S, hence s ≥ -sup(-S) for all s ∈ S. Therefore -sup(-S) is a lower bound for S, and it suffices to show it is the greatest lower bound. for the sake of contradiction that Suppose ^v mo is a lower bound for S with ms>-sup(-S). As argued in part @, -mo is an upper bound for -S. Furthermore, ms>-sup(-S) implied -mo<sup(-S). This is a contradiction, since sup(-S) is the least upper bound for -S.

Therefore - sup(-s) must be the greatest lower bound of -S.

9 Step 1: Show that for all tET, inf(S+T)-t is a lower bound for S.

By defn of S+T and the infimum, inf(S+T) is a lower bound for S+T, so $s \neq t \ge inf(S+T) \iff s \ge inf(S+T) - t$ for all $s \in S$, $t \in T$. Thus, for all $t \in T$, inf(S+T) - t is a lower bound for S.

Step 2: Show that inf(StT)-inf(S) is a lower bound for T.

By Step 1, for all $t \in T$, inf(S+T)-t is a lower bound for S. By defn, inf(S)is the greatest lower bound of S. Thus, $inf(S) \ge inf(S+T)-t$. $\implies t \ge inf(S+T) - inf(S)$ for all $t \in T$. Since inf(StT) - inf(S) is a lower bound for T and inf(T) is the greatest lower bound,

 $inf(T) \ge inf(ST) - inf(S).$ $inf(S) + inf(T) \ge inf(ST). (*)$

It remains to prove the opposite inequality. Since inf(S) and inf(T) are lower bounds for S and T, for all set and teT, $inf(S) \leq s$ and $inf(T) \leq t \Rightarrow inf(S) + inf(T) \leq s + t$. Thus, inf(S) + inf(T) is a lower bound for S+T. Since inf(S+T) is the greatest lower bound, $inf(S) + inf(T) \leq inf(S+T)$. (***)

Thus, combining inequalities (*) and (***), we obtain

inf(S) + inf(T) = inf(S+T). \square

10) Throughout, we use S to denote the set under consideration. (a) sup(s) = Jz, inf(s) = -Jz(b) sup(s) = JT, inf(s) = -I(c) sup(s) = inf(s) = 1(d) S is not bounded above, inf(s) = 1(e) sup(s) = 1, inf(s) = 0

. .

(f) sup(s) = 1, inf(s) = -1(g) S = [-1, 1], so sup(s) = 1 and inf(s) = -1

(1) The flaw occurs in the final sentence. The fact that K, MEIN does not quarantee k-1, m-1 \in /N, as was used in the base case. For example, take k=2, m=1.